(HONORS) GEOMETRY




NAME: _______________________

Unit 3 Lesson 3 – Prove Statements about Segments

BLK: ____ DATE: ______________



and Angles

	Name
	Property of Congruence

	Reflexive
	

	Symmetric
	

	Transitive
	


1.  Write the reason for each statement
	Statement
	Reason
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2.  Complete the proof by writing a reason for each step.
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4 mLl+mL2=mL3 +mL2 4.2
S.mZl=mZL3 5._2

6. L1=/13 6._2

3. GIVEN: AL = SK A

PROVE: 4S = LK

Statements Reasons
1. AL = SK 1.2
2.LS=1LS 2. 2
3.AL + LS=SK+ LS 3.2
4. AL + LS = A4S 4.2
5.SK+ LS =LK 5.2

6. 4S5 =LK 6._2

Geometry





GIVEN:  AL = SK


PROVE: AS = LK
	Statements
	[image: image11.png]


Reasons

	1.    AL = SK
	1.    _______________

	2.    LS = LS
	2.    _______________

	3.    AL + LS = SK + LS
	3.    _______________

	4.    AL + LS = AS
	4.    _______________

	5.    SK + LS = LK
	5.    _______________

	6.    AS = LK
	6.    _______________
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3.  Complete the proof.

GIVEN:  M is the midpoint of 
[image: image3.wmf]AB

, AM = 6in 
PROVE: AB = 12in
	Statements
	Reasons

	1.       M is the midpoint of 
[image: image4.wmf]AB


	1.    _______________________________

	2.       AM = MB
	2.    _______________________________

	3.       AM = 6in
	3.    _______________________________

	4.       AM + MB = AB
	4.    _______________________________

	5.       AM + AM = AB
	5.    _______________________________

	6.       6 + 6 = AB
	6.    _______________________________

	7.       AB = 12in
	7.    _______________________________
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4.  Complete the proof.

GIVEN:  
[image: image5.wmf]AB

bisects 
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 at O, CO = 9cm
PROVE: CD = 18cm  

	Statements
	Reasons

	1.       
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bisects 
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 at O
	1.    _______________________________

	2.       CO = OD
	2.    _______________________________

	3.       CO = 9cm
	3.    _______________________________

	4.       CO + OD = CD
	4.    _______________________________

	5.       CO + CO = CD
	5.    _______________________________

	6.       9 + 9 = CD
	6.    _______________________________

	7.      CD = 18cm
	7.    _______________________________



5.  Complete the proof.

GIVEN:  
[image: image9.wmf]BD

 bisects (ABC, m(ABD = 20° 

PROVE: m(ABC = 40°
	Statements
	Reasons

	
	

	
	

	
	

	
	

	
	

	
	

	
	


A.�
  Segment Addition Postulate�
�
B.�
  Substitution Property�
�
C.�
  Given�
�
D.�
  Segment Addition Postulate�
�
E.�
  Reflexive Property�
�
F.�
  Addition Property�
�









_1245953677.unknown

_1307988339.unknown

_1307988474.unknown

_1245953724.unknown

_1245953999.unknown

_1245953723.unknown

_1245953374.unknown

_1245953660.unknown

_1245953343.unknown

